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proc sql ;
create table ael as
select aesoc,aesev,count(*) as c
from sugi.ae
group by aesoc,aesevV ;
quit ;
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proc sgl ;
create table ae2 as
select aesoc,aesev,count(*) as c
from
(select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as ael
group by aesoc,aesev ;
quit ;
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data null ;
set sugi.demo ;
call symput (‘all’,left(_n)) ;

run ;

proc sql ;
select count(*) as all
from sugi.demo ;

all |
1 135
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proc sgl ;
create table ae2 as
select aesoc,aesev,count(*) as c,all
from
(select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as d1,
(select count(*) as all from sugi.demo) as d2
group by aesoc,aesev ;
quit ;
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proc sgl ;
create table ael as
select aesoc,aesev,
compress(put(count(*),8.))||"("|
compress(put(count(*)/all*100,8.1))||') "as c
from
(select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as d1,
(select count(*) as all from sugi.demo) as d2
group by aesoc,aesev ;
quit ;
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proc sgl ;
create table ael as
select aesoc,aesev,count/all as r,
compress(put(count(*),8.))||"("|
compress(put(r*100,8.1))||') "as c
from
(select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as d1,
(select count(*) as all from sugi.demo) as d?2
group by aesoc,aesev ;
quit ;
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proc sql ;
create table ael as
select aesoc,aesev,
compress(put(count(*),8.)||"C|
compress(put(count(*)/all*100,8.1))||") " as ¢
from
(select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as d1,
(select count(*) as all from sugi.demo) as d2
group by aesoc,aesev

outer union corresponding

select aesoc,aept,aesev,
compress(put(count(*),8.)I["("[|
compress(put(count(*)/all*100,8.1))||')" as c
from (select aesoc,aept,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,aept,subjid) as d1,
(select count(*) as all from sugi.demo) as d2
group by aesoc,aept,aesev

order by aesoc,aept,aesev ;
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proc transpose data=ael out=ae2 ;
by aesoc aept ;
Id aesev ;
var C ;
run ;
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proc sql ;

create table ae0 as

select aesoc,aept,max(aesev) as aesev,subjid
from sugi.ae
group by aesoc,aept,subjid ;

500 | FT | aesev | FEEEED
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proc sort data=ae0 ;
by aesev aesoc aept ;
run ;

data ae0 ;
set ae0 ;
by aesev aesoc aept ;
If first.aept then seq=0;
seq+1 ;
run ;
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proc sql ;

create table ae0 as

select aesoc,aept,max(aesev) as aesev,subjid
from sugi.ae
group by aesoc,aept,subjid ;

create table ael as
select aesoc,aept,aesev,
(select count(*) from ae0
where aesoc=dl.aesoc and aept=dl.aept and
aesev=dl.aesev and subjid<=d1.subjid) as seq,
subjid as c
fromae0 as dl ;
quit ;
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proc sql ;
create table ae0 as
select aesoc,aesev,subjid
from sugi.ae as d1
where aesev=
(select max(aesev) from sugi.ae
where aesoc=dl.aesoc and subjid=dl.subjid
group by aesoc,subjid)

create table ae0 as
select d1.aesoc,d1.aesev,dl.subjid
from sugi.ae as d1,
(select aesoc,max(aesev) as aesev,subjid
from sugi.ae group by aesoc,subjid) as d2
where d1.aesoc=d2.aesoc and d1.aesev=d2.aesev and

d1.subjid=d2.subjid _
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select empnum,empname,empcity
from sgl.employee as e
where ‘surfboard’ in
(select prodname from sgl.invoice as i
where I.empnum=e.empnum)
order by 1

select e.empnum,e.empname,e.empcity
from sgl.employee as e,
(select empnum,prodname,count(*)
from sql.invoice
group by empnum,prodname) as p
where e.empnum=p.empnum and p.prodname=¢surfboard’
order by 1
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proc sql ;

create table ae0 as

select aesoc,aept,max(aesev) as aesev,subjid
from sugi.ae
group by aesoc,aept,subjid ;

create table ael as
select aesoc,aept,aesev,
(select count(*) from ae0
where aesoc=d1.aesoc and aept=dl.aept and
aesev=dl.aesev and subjid<=d1.subjid) as seq,
subjid as ¢
from ae0 as d1
outer union corresponding
select aesoc,aesev,
compress(put(count(subjid),8.)||"(||
compress(put(count(subjid)/all*100,8.1))||")" as ¢
from (select aesoc,subjid,max(aesev) as aesev
from sugi.ae group by aesoc,subjid) as d1,
(select count(subjid) as all from sugi.demo) as d2
group by aesoc,aesev

outer union corresponding
select aesoc,aept,aesev,
compress(put(count(subjid),8.)||"(||
compress(put(count(subjid)/all*100,8.1))||")" as ¢
from ae,
(select count(subjid) as all from sugi.demo) as d2
group by aesoc,aept,aesev
order by aesoc,aept,seq,aesev ;
quit ;
proc transpose data=ael out=ae2 ;
by aesoc aept seq ;
id aesev ;
var c;
run ;
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proc sql ;

create table ae0 as

select d3.drg,d3.aesoc,d3.aesev,
compress(put(count(d3.subjid),8.)||' ("]
compress(put(count(d3.subjid)/all*100,8.1))||')" as c

from
(select d1.drg,d2.aesoc,d2.subjid,max(d2.aesev) as aesev

from sugi.demo as d1,sugi.ae as d2

where dl1.subjid=d2.subjid
group by dl1.drg,d2.aesoc,d2.subjid) as d3,
(select drg,count(subjid) as all from
sugi.demo group by drg) as d4

where d3.drg=d4.drg

group by d3.drg,d3.aesoc,d3.aesev ;

quit ;
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